WERDILT [FERi264ERE])

% ES| S01802 |11Fﬁ<ﬁﬂftm>|$ﬁ&i$ﬁ&%ﬁﬁ1309§1ﬂ
AT RS EEN (BEHKRE) IBEMREEE(FH) (BS))
AR B2 151 | ¥ TR 717 2 13 T 2 451 REEE FRAI534E
ELEE | MHEHER EEF HMERS 12 N FABE
é DEEEE, RETLOGLEEEGICRYSETEBHL, CEREICE
= ﬁ?éﬁﬁgl‘ﬁﬁ%{sijbfﬁﬁééiE'C‘EiLA RIFEEETHEICKY EFDER
s | B2 EUORBIEISF 5T A LEBNICRESNT,
! FA i i 150 55 X st BERREAH) —
+ih [Se@Ei#E 37855 M [FiAE| it MR - R —
EWAH| B EHBEE G BB) Mg B3| ASE (BE10.50m B LU) - #_E 1B - R OB
13| AR BE mzeAn| BHS3ENA 58 |munen 6,900,000 [
2Y |mokEik 69.85 m EE it |mims| Bt B
HEBY (EEER) | KENE | miEws (= ER) | FE
®£E;; EheFE REY BEASE ZM (Frid)
2 |15t
Y| £ E %
D[ ~1&
| 8%
E| 0D
0 &
YRY - EHEEERGE  |[EEAAKERERE
BEEELORES |REESELAEEETHD.
BIL. $he. GRE-HT5E
2 E DR ITEHARBI
SREET NEEIE
I FA B R — REEB — EERRE EBE
ERMM GEEEROSS) | B | £ A H© | =| £ A H
wEE WEEL] HABR | #BME |
% EHME ooos0 A| %% | A|BEEmmaoooss A [sememmajooiis A A& Jooror A
2 RonREERIER BROEE FEISRIRE
g| [EFeEes 1469 | [EE - BxZa® 0
= SeEIKE 0 EEEEERTH
ga)z RFSREFH 901 ZOMDEE
=| ||EEs 0
& EiEE 363 |@/h& 0
;} ZOtOEE 205 BHEEWA
a| [ HE 43119 | ¥ |mAsBRA 60,000
- BE % 40,309 | ym [ZDHBIRA
FEEERE 2,810
@/at 44,588 |QEMURA & & 60,000
EH(D+@)—Q -15412 A|HR— AH =Y DIXk -0.09 [
RN i EEHCAEINE) Hzi%%ﬁ(ﬁﬁﬁl)
: H24 H25 H26 FEFATTRER | BREE (%)
%) BEHBEE ) RS- EEIFABRABFY/EEFR [ 9% 100 100 100
%
)
X [Ebmrz AT 50k SERE 5B R IEE
gig ABEAEREFELTVAARABLAL. BETNIE. EEORREL RYIERK) £1T5,




HEHDKR

e R BYAH A me | KEM | Rgspg | DA :;mm!ms

s01803| T EN | | B 22 (30) AR aE(zot) [FRAAE® o 7o |mmsomi2A 18] 5400008 | FE | FE

sotsos| BEES inp e (%) AW aE(zof (FRAMER gt |mmsosi28 18| 360000F | FE | FE

s01805| TR EN | BB 22 (30) AR aE(zot) (RROmmET 4geni |mmsozi2A 18] 3000008 | FE | FE
-t L TR

-3 b B - 0 TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - 0 TR

-3 b B - TR

-3 b B - 4 TR

-3 b B - TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3h b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

- b B - TR

-3 b B - 3t TR

-3 b B - 4t TR

-3 b B - 3t TR

- b - 1 T RS




